R & ™

2 - % =

R " A H

SF2EE9H 10H

A G| 5 AT

HER15ME3MR ALE

1t % IREE R AR T ¥ — BRI TF
B b Lo & % BIE A EEZEIEEE% EH?BE@EE% ?ﬁjﬁﬁlﬁﬁﬁ Bz
&% (1) &|m (1) &m (1) &8 (M)
1| B E LKA ST 4, 800, 000 BE
2|dbHEE =B Y — e A THEGRESHE 4, 865, 000
IR ILEKRNESA BB
4|BRT 7 > U AR FEIR
S|BRA =1L B Lt FEiR
6| B ARZEFY — & AKRKESHt REIR
7| —LEHKRNSHT EER
8|db¥E TRt GBS
9| B EmBRA S FEIR
10[BR SR LE RER
(BERR4 & L7 ] B ABts A B P AT BRI 2 6 3 B 1o B HERAS
- A MRS 5, 280, 000 e E£FEE TEKRASHT IZRTE
- FEfE 5, 100, 000 M (THEBL R O 7 TH B BiAR 2 40 & FERR L 2 &%0)

LEROLBVMEERNI EEERT S,

FFI2e9A10R
PATE
K 4

b iE K S e A R i A AR AR R
fExAR B O






